FIE 1. RO ZRGEAZME S0,

(1) (x+2)(x+4)=0

(3) (x+2)(z—6)=0

[ 2. RO ZIRFTRAZMHE 7230,
(1) 2> +52+6=0

(3) 22 =6z +5=0

(5) 2> =22 —8=0

() 22 +3x—-4=0

E 3. RO ZRGEAZME IS0,

(1) 22 +42=0

(3) 222 =5z =0

RIEEA4 . RO _RFFREAEMHEE 7230,

(1) 22 —4z+4=0

(3) 22 +62+9=0

(5) 22 —9 =

MIES. WO _IRIFFREAEME 7230,

(1) 622+ 3z =0

3) (x—1)(xz—2)=12

(5) 3(z% — 4) = (x + 2)?

[+

(2) (x —2)(x —3) = 0

(4) (x=5)(z+4)=0

(2) 22 +Tx+12=0

(4) 2 —8x+12=0

6) 2> —2—-6=0

(8) 22 +2x —15=0

(2) 22 —32=0

(4) 3z + 52 =0

(2) 22 —22+1=0

(4) 22 + 142 +49 =0

(2) 222 —4x —6=0

4) (x—2)(x—4)=x—4

(6) (x+5)(z —3) = —2x(x +5)



e 1.
(1) (x+6)(z+3)=0

(3) (x+3)(x—5)=0

WHE 2. RO ZMHE oS,

(1) 22 +7x+6=0

(3) 22 — 4z +3=0

(5) 22 =32 —4=0

(7) 22 +42—-5=0

WE3. O WREREAEME RSN,

(1) 22 +2x =0

(3)322 -7 =0

T 4.
(1) 22 —6x+9=0

(3) 22 +22+1=0

(5) 22 —4=0

HE5. WO R AR I,

(1) 42% + 8z =0

(3) (x—2)(x—3) =20

(5) 3(x? +2) = (x — 4)?

WD IRFRBERERE 730,

WD IR EfRE 730,

=1

>t

il

(2) (x—4)(z—3)=0

4) (z—6)(z+1)=0

(2) 22 +6x+8=0

(4) 22 — 7z 4+10 =0

(6) 22 —2—12=0

(8) 22 +42—-21=0

(2) 22 —6x =0

(4) 522 +2x =0

(2) 22 — 8z +16 = 0

(4) 22 +10x +25 =0

(2) 222 =42 +2=0

(4) (x+3)(x—5)=—-22—-6

(6) (x —1)(x —11) = 2(1 — 2?)



A 1.

(4) z = —4,5

(3) x=-2,6

(2) x=2,3

(1) x = —4,-2

i 2.

4)z=26 (5)az=-24

(2)z=-4,-3 (3)z=1,5

(1) = -3,-2

[l 3 .

[HRE 4 .

M5 .
(1)
(6)

(5) z=-2,4

B)z=-2,5 (4)x=3,4

(2) x=-1,3
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4)z=25 (B)a=-14

(2)z=-2-4 (3)z=13

(1) 2 =—6,—1

(6) z=1,3



